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1 | 5A318 | BN 5H% 5736 x1/2 HEHRE 2,868 547,132
2 | 6308 | B 6A% 4,840 x1/2 BEHRE 2,420 544,712
3 | 7A318 | &K 7RA% 3460Mx1/2 BEWRE 1,730| 542,982
4 | 8A31R | BER 8A% 3417Mx1/2 BERRE 1,708| 541,274
5| 9A30R | BER 9A% 3,365 x1/2 HEHEER 1,682 539,592
6 | 10A318 | EIEMR 1085 3462M x1/2 REARE 1,731| 537,861
7 | 11A308 | EEMK 11A% 3,700 x1/2 AEHRE 1,850| 536,011
8 [ 12A318 | BER 128% 3537A x1/2 RERRE 1,768 534,243
9 | 1A31R | EEMK 1A% 3680 x1/2 HEHRE 1,840 532,403
10| 2H298 | BER 2A% 3742 x1/2 BEARE 1,871| 530,532
1| 11A1R | FESEEHICET A= His & 33,960| 496,572
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14 | 12288 | U 21091 BHERE 12,920 408,211
15| 3A31H | LASAKIE(BA~3H)3497TM x 118 AHBAR 38,467 369,744
16 | 3A31H | LABAFE(6A~3A)1,887M x10A EHBAR 18,870| 350,874
17| 3A31BE | A#HE(5GA~3A)3,086M x11A EHBAR 33,946/ 316,928
18
19

20
21

22




